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UNIVERSITY OF NORTH BENGAL
B.A. General Part-II Examination, 2022

SANSKRIT
PAPER-V

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.

Unit-1

I. Answer any one question: 10
(a) Delineate the character of King Dilip as depicted in Raghuvam$am, Canto I.

(b) Describe the journey of Dilipa to Vasistha’s hermitage in Canto I of
“Raghuvamsam” and write a few lines on Kalidasa’s treatment of nature.

2. Translate into English or Vernacular any one of the following: 4
(a) JreraT PaargN TUSRAT TagRIAT: |
AT T DI0T AR H I |l
(b) yoTE el | andr IferrEiq

NEERG RIS I I ER

3. Answer any three questions: 2x3 =06
(a) Who was Dilipa’s wife? To which dynasty did she belong?
(b) What is the source of YgaH'? Who is the famous commentator of this book?
(c) “SITa: Ry g
Who are referred to here by f4a3? With which are the compared?
(d) Who was gRf¥? why did she curse King faefia ?
(e) Who is the author of the YgaeH'? How many cantos are there?

Unit-11
4. What are the general rules of changing ao_qf__ﬂ'lﬂl into ®¥aTed? Give example. 4

OR
What is ared? Give example.
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5. Change the voice as directed (any three)

(a) T I8 TS (in HHaTA).
(b) fexRvges: e qafd (in Argar=y).
(c) XTSI gefcr (in wradrey).

(d) AT T T (in bgdred).
(e) Ry vwafdy (in HHaT).

Unit-I11

6. Translate into mother tongue:
AR AfRIWE ged gal<l 9™ 8| 9§ 9dar uygey fagifa | ad: |d
Ao e fasar— “agqa vacreRied Udsq Uod u3[ SUcIhard:” |
figlad— Taaeg’ | aa: 9fd Udbd 1) RISy Jeo~ad FHRI | 3 Halfq

JEINHH IR FAR: 9 RGO | dd: e duaHded—  Hawd
fererrarerTIsRY 2
7. Read the following passage and answer the following questions in Sanskrit:

SHRARF ATV YEUS! A™ Ioid: Uladfd | TR I e HTHMEg
JAfIGEeAT T | 3T T ST+ el URYHAT Jal e g faf<aasa — 318!
STHTITIC | 31 TR0 fieerel 94 31 Jaesly Scaedn™ | demgied
R4 AATSAT JIHET0T BRI, Uy IS Ioieh: WIsRd =7l | gd el
Bl A IH: RS I |

(a) Yo M AR ? & g3 ufcrawfa W ?
(b) TTeH: B gael: SN ?

(c) XoTeh: 3ea fd geedr ?
(d) T 9 b s ?
(e) TTEH: D eIl UTST: ?

2096 2

2x3=06

10
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